

February 12, 2018

Bryan Gongre Utilities Inc., of Florida 200 Weathersfield Ave. Altamonte Springs, FL 32714

Re:

Weathersfield - Altamonte Interconnect

Weathersfield Service Area

Dear Bryan:

Kimley-Horn and Associates, Inc. ("Kimley-Horn" or "Consultant") is pleased to submit this letter agreement (the "Agreement") to Utilities Inc., of Florida ("Client") for providing services related to the water main interconnect with the City of Altamonte Springs.

Project Understanding

An interconnect between Utilities Inc. and the City of Altamonte Springs is necessary due to the replacement of the bridge on Northwestern Avenue, which will temporarily disconnect the southern portion of the water system from service. The interconnect will be temporary and is preliminarily planned to be constructed at the intersection of Northwestern Avenue and Oaklando Drive.

Scope of Services

Kimley-Horn will provide a design of the proposed temporary water main interconnection in accordance with the City of Altamonte Springs standard details. Design drawings will be prepared for private bidding to Utilities Inc. of Florida preselected contractors. A design sketch will be prepared to obtain an FDEP permit. Construction services will be provided on an 'as-needed' basis for coordination and to provide construction completion certification.

Services Not Included

Any other services, including but not limited to the following, are not included in this Agreement:

- Surveying
- Geotechnical
- Environmental

Schedule

We will provide our services as expeditiously as practicable with the goal of completing the design within 30 days and proceeding to permitting and construction coordination.

Fee and Expenses

Kimley-Horn will perform these services for the total lump sum fee of \$7,065. The FDEP permit fee is included in the scope but all other permitting, application, and similar project fees will be paid directly by the Client.



Lump sum fees will be invoiced monthly based upon the overall percentage of services performed. Payment will be due within 25 days of your receipt of the invoice and should include the invoice number and Kimley-Horn project number.

We appreciate the opportunity to provide these services to you. Please contact me if you have any questions.

Very truly yours,

KIMLEY-HORN AND ASSOCIATES, INC.

Steve Romano, PE

Associate

Jon Martin, PE Sr. Vice President

ACCEPTED BY:

UTILITIES, INC. OF FLORIDA

Date: 2/14/2018

Kimley » Horn

November 20, 2020

Bryan Gongre Utilities Inc., of Florida 200 Weathersfield Ave. Altamonte Springs, FL 32714

Re:

Northwestern Bridge amendment

Weathersfield Service Area

Bryan:

Kimley-Horn and Associates, Inc. ("Kimley-Horn" or "Consultant") is pleased to submit this letter agreement (the "Agreement") to Utilities Inc., of Florida ("Client") for providing services related to the water main replacement associated with the County's work on the Northwestern Avenue bridge.

Project Understanding

An interconnect between Utilities Inc. and the City of Altamonte Springs was thought to be necessary due to the replacement of the bridge on Northwestern Avenue, which will temporarily disconnect the southern portion of the water system from service. Negotiations with the City could never be finalized and a temporary pipe spanning the Little Wekiva River will be installed instead.

Scope of Services

Kimley-Horn will provide a design of the proposed temporary water main crossing of the Little Wekiva River. Design drawings will be prepared to obtain an FDEP permit. Kimley-Horn will coordinate with the Owner's contractor to facilitate construction and permitting with Seminole County. Construction services will be provided on an 'as-needed' basis for coordination and to provide construction completion certification.

Services Not Included

Any other services, including but not limited to the following, are not included in this Agreement:

- Surveying
- Geotechnical
- Environmental

Schedule

We will provide our services as expeditiously as practicable with the goal of completing the design within 30 days and proceeding to permitting and construction coordination.

Fee and Expenses

Kimley-Horn will perform these services for the total lump sum fee of \$6,000. The FDEP permit fee is included in the scope but all other permitting, application, and similar project fees will be paid directly by the Client.

Kimley » Horn

Lump sum fees will be invoiced monthly based upon the overall percentage of services performed. Payment will be due within 25 days of your receipt of the invoice and should include the invoice number and Kimley-Horn project number.

We appreciate the opportunity to provide these services to you. Please contact me if you have any questions.

Very truly yours,

KIMLEY-HORN AND ASSOCIATES, INC.

Steve Romano, PE

/Associate

Jay Jackson, PE

Principal/Sr. Vice President

ACCEPTED BY:

Bryal. S

UTILITIES, INC. OF FLORIDA

Da

Date: 11/20/2020

TRAVERSE GROUP, INC. CLERMONT, FL 34712

Estimate

Date	Estimate #	
11/11/2020	2020UI69A	

Name / Address

Utilities Inc. of Florida 500 W. Monroe, Ste 3600 Chicago, IL 60661

Project
WEATHERSFIELD-ALTAMON

Description	Qty	Units	Rate	Total
NORTHWESTERN BRIDGE BYPASS				
Mobilization	1	LS	9,500.00	9,500.00
MOT	1	LS	3,500.00	3,500.00
8" DIP Directional Bore	90	LF	85.00	7,650.00
8" HDPE Watermain	120	LF	50.00	6,000.00
12" H Pile Temp Pipe Bridge	1	LS	3,950.00	3,950.00
8x8 Wet Tap	2	EA	6,500.00	13,000.00
8x8 Insert Valve	2	EA	10,950.00	21,900.00
Fittings	1	LS	3,500.00	3,500.00
Open Cut Roadway	2 2	EA	5,500.00	11,000.00
8" Caps	2	EA	250.00	500.00
Testing	1	LS	1,500.00	1,500.00
Jumper	1	LS	2,500.00	2,500.00
Permitting	1	LS	1,500.00	1,500.00
As Builts	1	LS	4,000.00	4,000.00
SUBTOTAL: \$90,000				
NORTHWESTERN BRIDGE RECONNECTION				
Mobilization	1	LS	6,600.00	6,600.00
MOT	1	LS	4,500.70	4,500.70
8" AC to DIP Coupling	2	EA	950.00	1,900.00
8" DIP	120	LF	70.00	8,400.00
8" 45 Bend	4	EA	300.00	1,200.00
Testing	1	LS	1,500.00	1,500.00
Jumper	1	LS	1,500.00	1,500.00
Road Repair (Overlay by Others)	2	EA	3,500.00	7,000.00
Misc Connectors and Fittings	1	LS	4,500.00	4,500.00
SUBTOTAL: \$37,100				

Bryan K. Gongre UIF Regional Manager 11/11/2020

Total

\$127,100.70